~E B

“» FIFR+5RFER T\ 73 8%

E80301

(DA* L3252 F 42
- E RS B ANEFERLE R LZ x ez K=
Blde s (x+2)(x+3)=x>+5x+6
(x—2)(x+3)=x*+x—6
(x+2)(x—3)=x*—x—6
(x—2)(x—3)=x>—5x+6
- HAPEF I M NSRS B - N4k
et x*+5x +6=(x+2)(x +3)
¥+x—6=(x—2)(x+3)
¥—x—6=(x+2)(x—3)
x> =5x+6=(x—2)(x—3)
d b k)3 T U - X238 N ehx AikeEA B - =N ey f/‘fﬁ:maﬁﬁt J
S HZ AN B GBS B SN W B0 Bk Ao o - KN
VR OE GRBCELS B - N Bof Glohfe £ o

’ 72 x><_2

x><>3 X > 3

¥+ (243)x + 6 x*+(—2+43)x—6
=x+5x+6 =x'+x 6

X 2 X -2

X><—3 x><—3

x>+ (2-3)x—6 x’—2-3x+6
:xz—x—6 :x2—5x+6

[Eo1): At mfaraiest s (1) x¥*—2x—24 (2) x*+Tax—18a’
A 1 +9
6 a

O (2)
1><+4 1><—2a

-6+4 =-2 +9a -2a=+7a

x?—2x—24=(x—6)(x +4) x>+ Tax—18a’=(x+9a )(x —2a )




N B E80301
[fﬁ}l}]i Fl e fET A A5 1 (1) 3x*—6x—24 (2) 12x*—16x+5
o
3 +6 6 -5
() (2)
<, e
+6 -12=-6 -6 -10=-16
3x?—6x—24=(3x+6)(x—4) 12x*—16x +5=(6x—5)(2x —1)
[#61]: Bt AT o e s 0 (D) 8x"—Tx"—1 (2) x*—2x°—8x
iz () 3
8x +1
1x3><—1
-8x+lx*=-7x3
8x—Tx*—1=8x*+1)(x*—1)
=Q2x+1D)Ux*—-2x+D(x—D(x*—x+1)
(2) x> —=2x"—8x=x(x*—2x*—8)
X2 -4
<,
+2x?-4x*=-2x2
il x® —2x —8x=x(x*+2)(x*—4)
=x(xX*+D(x+2)(x—2)
(€ 2D R FaRAl e i 6a’b> — abc —15¢°
2 6a’b> — abc —15¢> =6(ab )’ —ab - ¢ —15¢7

2ab +3c¢

3ab><—50

—10abc + 9abc = —abc

5000 6a’h? — abe —15¢* =6(ab)* —ab - ¢ —15¢?
=(2ab +3c)(3ab —5¢)

% 16a’b>—abc—15¢>=(2ab +3c¢)(3ab —5¢)




E80301

(o032 ) (xof thdief 1~ ¥ dof s o) [y - Y (xof i1~ ¥ 858 5 1 #K)
(DA fEx"+12x +20=(x+2)(x +10) (DA fEx"—16x +15=(x—1)(x—15)
(D)4 fEx+4x +3=(x +2)(x +10) (2)# 2 x*—10x +25=(x —5)’

(o088 ) (oo i1~ % 8098 % f ) [Ry = Y (o i1~ ¥ 898 % f )
(1) A f#x?+4x —12=(x +6)(x —2) (3) A fEx2—Tx —30=(x +3)(x —10)
(2) A Ex2+19x —20=(x +20)(x —1) (4) ~f2—18—Tx + x> =(x +2)(x —9)

[fid%{i]<<ii§i§_.ﬂ ‘fl]'ﬂ' .L:T‘-_«}L;h&/z{ 3 97\:’4’\}?;>>

(1) #fE(x+1)(x—2)—4 (2) »f25xy —25x"y* +30x)°

2:(1) (x+1)(x—2)—4 (2) 5xy —25x*y" +30x)°
=x*—2x+x—2—4 =5xy(x*—b5x y+6y*)
=x"—x—6 =5xy(x—2y)(x—3y)
=(x +2)(x—3)

(R = Y (BRI L339k FN A7)
(1) »f2(a+b)>— (a+b) —6 (2) Afa(x*+2x)>—4 (x*+2x) —32
f2:(1) (a+b)>— (a+b) —6 (2) (x*+2x)* —4 (x*+2x) —32
=(a+b+2)(a+b—3) =(x*+2x +4)(x*+2x—8)
= (x+4)(x—2) (*+2x+4)



N3N E80301

[b]42e ] [y e ]
(1) »28x"+7x’—1 (1) »iz26x*—13x"+6
(2) »f26x —11x>+4x (2) »f26x°+17x"+7x7
f2:(1) 8x°+7x° —1 f2:(1) 6x*—13x"+6
=(x*+D@®x*—1) =2x"=3)3x*—=2)
=(x+D(x*—x+1) [(2x)’ —1°)
=(x+D(x*—x+DQ2x —D@Ax>+2x +1) (2) 6x°+17x*+7x>
(2) 6x°—11x>+4x =x*(6x*+17x*+17)
=x(6x*—11x>+4) =x*Q2x*+1) Bx*+17)

=xBx*—4)(2x*—1)

[ 387 ) (€S ED
(1) »f26x +xy—35y° (1) »f210a’+ab—21b"
(2) »j23x>—4xy—7y° (2) »f214a”> +33ab —5b°
f2: (1) 6x*+xy—35)° f2: (1) 10a° +ab—21b°
=2x+5y)@Bx—Ty) =2a+3b)(5a—Th)
(2)3x*—4xy—7)° (2) 14a*+33ab —5b*
=(x+y)QBx—Ty) =(2a+5b)(Ta—10b)
CLTY CYED
F s fE(x+y) —3(x+y)—4 F A3 6(x+y) —(x+y)—15
f2:(x+y)*—3(x+y)—4 f2:6(x+y) —(x+y)—15
=(x+y+D(x+y—4) = [(2(x+y)+3)(3(x+y)—5]

=2x+2y+3)Bx+3y —5H)

(o142 ] [y -]

F AR +2x)(x*+2x—1)—6 F AR —Tx +5)(x*—Tx—3)+16

f2 0 (x> +2x)(x*+2x—1)—6 f2 (x> —Tx+5)(x>—7x—3) +16
=(x*4+2x)>—(x*+2x)—6 =(x*—Tx)>4+2(x*—Tx)—15+16
=(x*+2x+2)(x*+2x—3) =(x>—Tx)>+2(x*—Tx)+1
=(x*+2x+2)(x —1)(x +3) =(x*=Tx+1)°

=(x—D(x+3)H(x*+2x +2)



N E B

CLED!

Ajax’ —8x —9x

f2: X —8x —9x
=x(x*—8x"—9)
=x(x*—8x*—9)
=x(x>+1)(x*—9)
=x(x*+1)(x+3)(x—3)
=x(x+3)(x—3)(x*+1)

(o4 T (AP -3 2 5i)

AfE2(x+1)*— (x+79)

2 2(x + 17— (x+79)
=2(x’+2x+1)—x—79
=2x*+4x+2—x—179
=2x*+3x—77
=(x+7)(2x—11)

(B4 ] (A s 302 750

A fR2x = x —xy+y — ¥

i

2x’—x—xy+y—y

=" =y (=)= (x—y)
=(x+y)(x=y)+alx—y)=(x=y)
=(x—y)x+y+x—1)
=(x—y)Q2x+y—1)

(13- 14 A am=A)

AR —5x+8)(x*—5x+2)+8

f2: 4 A=x"—5x
J(A+8)(A+2)+8
=A’+10A+16+38
=A% +10A+24
=(A+4)(A+6)
=(x*—5x+4)(x*—5x+6)
=(x—D(x—4)(x—2)(x—3)
=(x—D(x—2)(x—3)(x—4)

E80301

[y ~ 1

Ajax’ —2x*+3x —6x°—4x +8

f2 0 X —2x"+3x —6x>—4x +8
=(xX* +3x—4x)—2x* +6x*—8)
=x(x*+3x"—4)—2(x*+3x*—4)
=(x"+3x"—4)(x—2)
=(x—2)(x*—1)(x*+4)
=(x=2) (x+D(x—D(x*+4)

Loy 4 J(AFRE+-F25%2)

4% 10a’bc—3a’ b’ c—18ab’ ¢

f2 1 10a’bc—3a’ b’ c—18ab’c
=abc(10a® —3ab—18b7)
=abc(2a—3b)( Sa+6b)

(€S KRR U )

AfEx’y —x*+3xy —2x+2y

i3 X’y —x*+3xy —2x+2y
=(xy —x"+x)+2xy —2x+2y)
=(xy —x"+x)+2xy —2x+2y)
=x(xy—x+y)+2(xy —x+y)
=(x+2)(xy—x+y)

[y + - 14 ApR T =A)

AR +HS5x+D(x*+7x+7)—3x7

312 A=x247

Co (A+F5x)(A+7x)—3x2

=A% +12xA+35x —3x’
=A% +12xA+32x°
=(A+4x)(A+8x)
=(x*+7+4x)(x*+7+8x)
=(x*+4x+7)(x*+8x+7)
=(x*+4x+7D(x+1) (x+7)
=(x+D(x+D(x*+4x+7)



